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General Instructions : —
(i) All questions are compulsory.

(ii) This question paper consists of 19 questions
which are divided into four Sections :'A', 'B',
'C'und 'D':

Section ‘A’ : Question No. 1 of this Section
has sixteen (i-xvi) Objective
Type Questions. Each question
carries | mark.

Section '‘B': "I'his Section contains six
questions from Question Nos. 2
lo 7, each of 2 marks. ’

Section 'C'; pis Section contains eight

questions from Question Nos. 8
to 15, each of 4 marks.

Section 'D’' ; 9y,;s Section contains four

questions from Question "y
16 to 19, each of 5 marks. 8,

(iii) There i no . orall choice. Iy

. : Owev
mzem.af choice pas been proy; ded if:!r, an
quesltions of 5 . rks. You haye U two

only one of the g),en choice in s tich O attempy
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Express 0001 in 1[;- form :
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_Every integer 18 @ rational number :
(A) Truc
(B) Falsc
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(iv)

(v)

(vi)

(5) 2
In which quadrant point (-1, -3) fies .
(A) 1quadrant — (B) II quadrant
(c) Hl quadrant (D)~ IV quadrant

Wﬁﬁawmaﬁ?—mﬁﬁgﬁ%?x

A x'7t+6 (B}’ﬁ’?gi
© x+% (D) x32+2x+6

Which of the following aigcbraic expressions
is a polynomial ? .

© x+= (D) x*2+2x+6

X '
BT 6x+7 3 Fadl ax+by+c=0 & FA W
a A BT 1
(&) 0 (B 6
(€ 1 ‘D) 7

Compare of g, ,7with the equation
ax+by +¢=0, the yalue of ais :

(A) O (B) 6
€ 1 (D) 7
2x* 37x+3 B .
‘ Torrges & : !
WK(ZA +1)(Jc+3) (B) (2x+3)(3x-2)

@ C*=Dxyyy ) @x+1)(2x-1)
The faclor of P

2y X 4 7x+3 is: :
{A) ( 1+1)(1'-;.3) (BJ (2x+3) (3'\’_2)

"3 2x -1 8 &
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(vii) G al| b, bl ¢ @ BT T qae ? »
(A) ghc (B) alb
w)/a'lﬁ c (D) blc
If a]|lb, b||c then which onc is true ?

(A) alc (B) alb
€) all ¢ (D) blc

(viii) 7% A, B ol C @ Y@ | Rera i fig & o
B Rig A dt C 3 77 Rem &, & -0 F

7 &/ ’ -
(af” AB + BC = AC

(B) AB-BC=AC
(C) AB+AC=BC

(D) AB + BC = AB.

A, B, C arc three points liés on a line, B lics
between A and C, then which one is true ?
(A) AB+BC=AC (B) AB_BC - A

(C) AB+AC=BC (D) ag4pc-ap
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If the height of a lﬁanglc 1

is 5 cm, then its ang;¢ 'S 10 cm and base
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(A) 120 Ho” (B0 o’

© 130#0> - (D) 1407’

The inner diameter of a circular well is 3.5

m. It is 10 m dcep. Its inner curved surface ;f

arca is : (A) 9

(A) 120 m° (B) 110 m’ ( 27° D) 36°

(C) 130 m” (D) 140 m’ ) ;?a i;; Sl S;iﬁif 4 gHs M ¥ A
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Each angle is not right angle : 6

(A) Rectangle (B) Square In a bag there are3 red, 5 black and 4
(C) Triangle (D) Cube ‘JJI;':U:. balls. Onc by jg dxtawn al ra;ldorn.
(xii) I F AT TARY 1 A Ny the probatlity o red ball ?
What is volumc of a cylinder ? E 4 B %
(xiii) amepfey &, x & [ &M @ =
‘ o b
xv) ¥ g i
(A) 5 W : 1
The m o ;
¢ mean of first fiy
Eg)) 4 ol numbers is
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(9) i
Angle in a semicircle is :
(A) Complementlary(B) Obtuse
(C) Right - (D) Acute

gs - g
SECTION-B
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.2.03333 ... =03 & £, & w7 ¥ ama A, @ p
| 7 B
aff?_qi"rﬁﬁ?am q+0 2l 2

Express 0.3333

oooooo

(3+3)(3-43

| / (3+3)(3-V3)
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S »<ACB=31° «BDCFam?2 -
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=03 in the form £, where #

110) 1203
If ZABC = 69° £ACB= 319, find £BDC.
D
(7¢C
s
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g7 105° & @ @ T B

Construct an angle of 109°.
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154 ¥ B 2
Find the radius of a sphere whose surface arca
& 154 cm”. '
7 17 Ryl @1 ©F g 20037 TR T & ad 299
faftr=t oftomdt & arfaran = E - >
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Three coins are tossed smlancously —
with the following freq%cies af difrcrcn! xmcts
oul-

comecs |
— i

Outcomec |3 hcads |2 h‘ﬁs

Frequency 23

Find the probability of 2

Yads,
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SECTION-C |
s.qw@ 7 T F WEmm REW
(25)-‘+(-15)3+(—1-")_W W 8§ 0 4

Without actually calculating the cubes, find the
value of (28)" T (—1‘1? +(—13)3 .
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Yar W, (i) TG a7 R e S 1
Solve the equation 2x+1=x-3 and represent
the solution on (i) The number line, (§ The

Cartesian planc. ._

10~ 9% f # AC=BD 2, @ Rig FWW AB=CD: 4
//]3
C
A B
Ifin figure AC = BD, then prm'c-l.hatAB = CD-:

e D

A B
11. AABC # ¥ BC gy p og & R & B AD = AC
mﬁAB:ﬁADI 1
A
B 1 i
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e 1 BC such th
Kl)“: :CF:!T:,;\'CH figurc show that AB > AD .

A

p D c
)Afﬁ ]’:13511!\8(:@!‘('tFﬁEﬁl‘hﬂ\‘?rﬁ:l‘}.lBC=3@;{1l
B = 45° 3T AB- AC = 3584 (I 4

Construct a triangle ABC in which BC = 8 cm,

/B =45°and AB-AC = 35 cm.
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Sanya has a picce of land which is in the shape
of a rhombus (scc figure). She wants her one
daughter and onc son o work on  the land and
produce different crops. She divided the land in
wo cqual parts, If the perimeter of the land is
400 m and onc of the diagonals is 160 m. How
much arca cach of them will get for their
crops ?

i 100 m

1 160 m
00m 100 m

D

100 m C
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Curved surface area of 5 right circulay cylinder

: 2
'$ 4.4 m”. Il the radiug of the basc j
-find js height. https: /www haryanaboard.com
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$0.7 m, then
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The record of @ weather station shows thyg oul
of the past 250 congectttive days, 1S weather,
forecasts Were correct 175 times
(i) What is the probability that on o given day
iy was correct ?

(i) What is the probability that it was gy

correct on a given day ?
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ga” +b° + 1200+ Gab*
Factorisc @
o 8ad 407 4 1207 Gab”
Gy B Tw Ree RET 103 x 107 FOAH S Hfg 2
Evaluate 103 x 107 without direet multiplication.
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Find the remainder when X —ax? +6x -4 i8
dividedly y_ .
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(16) 1203’ o P &0 & e
17, wilg 3 Y me ¢ qreoht & 400 P T e fag
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en | I 7 ) ‘Hﬁl{ %’ Rl arh LR R i r’—‘—%*i’f—-ﬂﬁ_\—_—
%R 1.5 Mo grar &1 o W 3 arl I g @ ——-%?’ﬂ val
g B, 25 Wl T g gt 2R fTiles) . 230-500 o
W B ol wgedl AR ge0 v W My F 500-600 .60
Q0 el WA It FRET Y e a3 ? "4 gpo-ain . ?i
Homeed has buill @ cubical water tank with ;g JUCSECE ‘
for his house, with cach outer edge 1.5 m long, - 800-900 62
He pets the outer surface of the tank CxCludiné QOO—IOQL__J._ 48, .
(the hase, covered with square tiles of sige 25 - mﬁﬁ # @eEm & @ E% H\ﬂaﬂ #
e Find how much he would spend for the yj)eg Prafia ) ’
il the cost of the tiles is ¥ 360 per dozen ? _ i) Poat i B ofte-FE 7004 & aRH E? 2
i 11
on ; The following table gives the lifetimes of 400
o oy neon lamps : -
Hdly | Mo IR @& Femmep god & griea 15.4 diey : Lifetimes (In Hours) Number of Lamps
BogEn W & fn R whfler ag A de g 300-400 e
atggudr ot 7 5 400-500 56
'l‘h'c capacily of a closed cylindrical vessel of 500-600 60
height Im " is 15.4 liters. How many square 600-700 &0
meler ol metal sheet ' i d
g would be nceded to make_'_l 700-800 Z;
18. R uF Brga ;ZTT ﬁ@ﬁ IR TG ©F & o dhd 9%?]0'1%%% 48
% ) AR el & &y . : - _ e
ST F NG " Rﬁ;'@f, W R A B () Represent the;given informatiert with the
P T g & &% & om d help of a histogram o :
" -‘ s " i) How many Jemmps have a liletime of mayy
Il a triangle and a parallelogram are on the same | than 7000w ?

base and between the Samc parallels, then prove

that the area of the trianple i
gle is ;
aTOS S e patelil s I cqual to hall’lthf‘
I
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